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(a) [Elements of Statistics and Mathematics)

100 for Arts

75 for Science

Time Allowed : Three Hours Maxim wm Marks {

Write your roll number on question paper before start writing answers of questions. No supplementary
answer-book will be given to any candidate, hence the candidates should write their answers precisely. .

Pari- A shall contain question No.I consisting of very short type X (Ten) questions. The candidate is required to
answer each question in 20 words. Part-B shall contain question No.2 consisting of V (five) questions. The
candidate is required to answer each question in 100 words. Part-C shall contain 3 essay type questions {one from
each section) with internal choice.

Attempt five questions in all. All %15 of Part-A and Part-B are compulsory while rest 3 question are to be
attempted from Part-C selecting uestion from each section. All question carry equal marks.
Part- A - All; Part-B-All, Pas& (1 from ‘each section) each question. Carry 20 marks for Arts students and 15

marks for Science studsu%%
N PART - A/ 9T - &1
1.  Explain the following :

=1 %1 =rEn T S

(). 8xr—-10x+2=0

(i)  Find the 10'P term of the following series :
fe Aol %1 gEal 9 9@ HIIC :
1,71
PRI

(iii) Write the formula of point elasticity of Demand.
T # fag dre %1 g farfan)

fiv) Find the value of the determinant
ARfvi %1 7 9 FE
-4 -8

i -2 -6
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#v) Define geometric mean.

o AT ) Sfoafed FF

(vi) Find E

dzy - I" ———— i -
ot O
2x(1- %)

{vii) What is skewness ? A\
fooman 7 €2

{viii) Write any two differences between correlation and Tegression.

TEEEY T YA § F% 2 J fafan

(ix} What are the uses of integration in economics ?

WU Bl AGIEA § F 39am &2

(x) Write the additive model of time series component.

) TG A0 F TR F A Aiew & fafau)
PART-B/¥M-¥

2. (Q Simplify :
AR :

14n+4 + 71:a+3 x 21:;+3

13 x 1471 4 142

(i) What are the points of intersection of the line wath equation 2x+ 3y =Tand the parabola with
equation y= — 222+ 2x+ 520\ v

T 22+ 3y =7 SR FHT 5= =202+ 20-+5 ¥ O Tl Y 3 whredee g 7

2 %6
(iti) Obtain inver trix
- Hfmmw R AT :

[

(iv) Find the combined means for the two group of workers for the following data :

v TR &I TR F Prerferfiaa siwdl A amfess Torm M 9 R

Group - 1| Group - 2

Mean wages
(vmen ARgH)
No. of workers

(TRl F wem)| 000 | 1500

75 60

“tw_ Expanse this through binomial expansion method :
fowz fawm {fa 2 fawaw =ifem
X2+ X8
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PART-C/vwm -9
SECTION-A/@Ug - H

() Find the 9" term of G.P. 1, 8,9, 27, 81, ............
TR AV 1, 3, 9, 27, 81, e #1953 R W FhY)

2
9x—2  4x =7 _6x-1 find the valueof x.
3 4x% +3 2

(i)

2 -
9x—2+4x -7 =6I-l,rﬂqﬁiﬁﬁﬁﬁt{|

3 4 +3 2

(i) Differerftiate -
AT DY :

Y = logvx*-1

Show the nature of commodities :
X,=60-3p, +2p,y and
{Xp=50~T7p, — 10p,
Eﬂﬂ@ﬁ' F FFfﬁ A
X,=60-3p, + 2py T
X,=50-"Tp, — 10p,

(v)
r

"~ OR /3gar

Solve the following equation by Cramer’s rule :
I % forw gro e geiH 3 7 HifC ;
2x+y-2=3

=
x+y+z=1 §\

x—2y—3z=4 &
._ R
(i) Provethat: Q\

()

Find the elasticity of demand function :

qz,)w-pz at P=2

ofe T e q =10 - P2 3 P=2 A A 5 F S i s
(iv) Provethat:

fag #if@ :

1 1 1
x b Szl =(x=2y) (2y—32) {3z~ x)
.r2 43*2 g2

(1)
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SECTION -B/QUg - N

4. (1) Define statistics and discusa ita nature and acope.

wifter %1 aftwrn dfm Ryl vl 3 a4 @ il fike)

(i) Find the standard devintion and ita cocfficient from the following datn ;

ey arviald & s e ol 3E i Tm Fifag

Wages (Less than) No. of persons
G (W FH) afad %) v
10 12
20 30
30 66
40 107
50 1567
60 202
70 222
80 230
OR / 3rast
(i)  Define dispersion and skewness,
ufertn § faaman i wfoafa wifaw)
(i) Locate the missing frequencies in the following distribution
=1 wftfa arqel dza & s smgfa S
Class Interval Frequency
(anf=r) (smafa)
0-10 3
10- 20 -
20-30 20
30 - 40 @ 12
40 - 50 g\ .

Median and Mod@e 27 and 26 respectively,
g 3k a@w: 274926 ¢

@$ SECTION-C/@vE - ¥
5. (i) galcu.late coefficient of correlation between the two variables (x) and (y) from the following
ata :
i fell M HiE R QT (o) M (y) F Wed wEETEY TO0H A FA ;
x ¥
57 10
42 26
40 30
a8 31
42 29
45 27
42 29
45 27
42 27
44 19
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Explain ‘Index Number. Why is Fisher's formula referred to as a ‘Ideal Index’?

1T &1 7 WHgRA | R 1 g3 IR qEais 3 deedl €
OR / 3rgarn
Below are given the figures of production (in thousand kgs) of wheat crop :

TR T F1 IR (TR e F) Fror v ¥

(n)

(1)

Year (9) Production (39EH)
1994 70
1995 80
1996 86
1997 77
1998 85
1999 90
2000 88

Fit a straight line trend by taking the year of origin at 1996.
¥ 1996 ) e R §C T @ ¥gf el I F

()  Find out the trend value for the year 2002.

a§ 2002 ¥ fore wafa Teq F Mo HifT

From the following table find the value of y whenx=8:

ﬁﬁWﬁﬁx:Sgﬁﬂmyﬂﬁﬁ'ﬂTﬂm:

(a)

(1)

x ¥
1 10

3 20 \\Q&Q
5 32N

7 4s§’

)
%
%

-00o0-
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